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  5 circles in a circle

radius =   0.494543344331
ratio  =   4.521480276972

density  = 0.733719358266
contacts = 10
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  6 circles in a circle

radius =   0.457766152976
ratio  =   5.350962990298

density  = 0.733424477835
contacts = 12

 E.SPECHT
20-MAR-2012

N = 7

1

2

3

4

5

6

7

  7 circles in a circle

radius =   0.437359195986
ratio  =   6.049378486491

density  = 0.765132265253
contacts = 10
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  8 circles in a circle

radius =   0.417525212693
ratio  =   6.774266652067

density  = 0.784472864556
contacts = 12
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  9 circles in a circle

radius =   0.396877769096
ratio  =   7.559002377066

density  = 0.787559818012
contacts = 14
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 10 circles in a circle

radius =   0.380838176731
ratio  =   8.303468122111

density  = 0.797707442707
contacts = 14
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 11 circles in a circle

radius =   0.365584079680
ratio  =   9.072125879382

density  = 0.801910315893
contacts = 16
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 12 circles in a circle

radius =   0.351139294856
ratio  =   9.865320304168

density  = 0.801442228549
contacts = 20
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 13 circles in a circle

radius =   0.340521360741
ratio  =  10.588326287729

density  = 0.811683579845
contacts = 18
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 14 circles in a circle

radius =   0.329226992036
ratio  =  11.364977590778

density  = 0.812928092140
contacts = 22
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 15 circles in a circle

radius =   0.320958643541
ratio  =  12.066923337792

density  = 0.824115606908
contacts = 24
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 16 circles in a circle

radius =   0.312029237532
ratio  =  12.819311522320

density  = 0.827579083138
contacts = 24
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